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SRABBERREMIFERTS(BILUEED) 79.30% 47.08% 32.69%
S@mEmhaETE 75.91% 85.46% 91.87%
SEZNECERERF ERETSE 92.07% — 54.80%
SiEMHESERE S 68.47% 29.51% 17.11%
HEH TS 65.75% 80.11% 97.21%
WFRIDBRERERETSE 89.73% 87.28% 96.80%
S(CE &) & mhEtE 89.75% 67.39% 90.68%
AR &) B TS 83.55% 81.31% 45.91%
HNERTETE 78.41% 84.63% 92.26%
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Mg 7

BEHRMEmEtERRE TEe & | BXE
EITEmhaEt = 72.30% 85.51% 87.10%
IEE TS — 82.76% 95.52%
BILLIEZEFTE 77.78% 79.92% 79.93%
BB MR ERRTE 72.04% 72.31% 61.36%
HEHHETS 66.70% 68.30% 93.36%
WEBRERERSS 36.32% 61.75% 36.12%
MeeElhat= 80.63% 80.42% 98.57%
(F)#rdtm 80.78% 77.82% 74.50%
NE(FE &) &R ETE 96.03% 88.82% 95.69%
TroRSFHERES — 38.40% 55.62%
—ZHEmETE 60.86% 71.39% 85.32%
—E#hat= 92.82% 91.53% 91.63%
—REHETE 71.97% 85.48% 98.20%
T (REE &) & hET = 83.50% 87.19% 99.79%
TE TS 86.27% 94.73% 84.81%
hREHETE 93.91% 94.42% 97.41%
hiR#EmHET= 85.95% 82.85% 75.83%
IEBRREREERESE 82.99% 83.24% 97.20%
R AT S 24.59% 51.53% 94.19%
XANEHETE — 98.84% 99.51%
AFEhET = — 52.34% 92.86%
AhEEmETE 51.31% 55.45% 34.48%
S IEEhET = 82.72% 90.30% 99.26%
FEMOKIRR EBRET S — 59.42% 88.98%
RIEABFEXEER AN E S ESFERSTE(HILH — 61.27% | 63.76%
2857)

WIB(F Mt &) &R ETE — 85.03% 66.02%
WiEE et = 96.88% 93.55% 87.98%
MO EERTS 49.47% 75.35% 87.50%
T#EHET= 19.17% 4.81% 0.18%
RIEHETE 75.02% 87.05% 87.99%
SRKBEEERETE — 50.56% 85.13%
BK(TTEIH &) &R ET S 96.18% 56.87% 94.26%
SOKEHET S 83.61% 80.07% 92.89%
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Mg 7

BEHRMEmEtERRE TEe & | BXE
BRSNS ERETS — 34.05% 28.27%
RIVERTETE 89.23% 90.22% —
B ESGERSS — 0.01% 0.00%
WG (L&) & ErE 62.27% 62.05% 89.67%
HMIEK RS ERETS — 53.10% 57.73%
MG T = 84.92% 88.15% 95.14%
HAtElhaT = 91.61% 89.05% 64.71%
I Elhat = 54.77% 68.38% 95.13%
BE#H TS 0.10% 1.28% 0.01%
EEABHBRRERETE — 95.98% 98.18%
EKREERETE — 38.18% 63.83%
=B8R ERSS 89.10% 55.14% 49.66%
M= EBHthE) & mhat= 89.84% 74.77% 69.09%
ML E &) & hET S 77.42% 81.25% 99.72%
ME T = 85.09% 93.08% 88.77%
BIEE TS 52.69% 45.27% 94.48%
FEE - EREMEEIMETE — 74.40% —
g et S — 64.80% 94.34%
EMETHET = 88.09% 97.92% 98.75%
ER(ESHE) & HETE 86.31% 67.17% 59.52%
ERE TS 72.08% 74.32% 70.56%
(G)EM#* 45.07% 69.15% | 86.13%
—E#mat= 21.24% 63.81% 97.83%
hiE#E et = 44.82% 80.04% 99.89%
Z(leZth &) &R EtE 41.38% 64.20% 80.97%
ZI|#hET= 46.48% 68.21% 89.42%
033t @ B E T & 45.65% 66.86% 74.58%
AtE#mET = 27.74% 80.09% 99.93%
HERh#mat= 40.46% 84.60% 91.74%
BHEZRRPOMERE RS — 53.17% 14.28%
RiEEBFREXNEEBFERBENESEASTERS(ERR — 64.16% 79.33%
2 5)

R RE AT E — 69.40% 97.53%
Sl#mETE — 59.99% 63.33%
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Mg 7

BEHRMEmEtERRE TEe & | BXE
wBiEHERFTEREE — 58.69% —

BRIy EL AT = 41.16% 53.35% 66.26%
EENRERFERSE — 14.79% —

fERE haET = — 71.53% 86.27%
BERETEISE 51.64% 93.17% 92.49%
RS &R)EhET S 42.60% 39.86% | 47.11%
grREMETE 68.83% 65.40% 96.45%
(H)¥kE ™ 7437% | 79.79% | 82.02%
N\ B &) &R hErE 92.80% 69.14% 80.80%
N Bt &) &b Et = 78.79% 93.71% 99.31%
AEGFR W &) & hErE 86.49% 50.78% 53.07%
RKEEHHETE 63.99% 76.59% 99.69%
REREEHETE 73.96% 87.01% 88.65%
REBEHRM )& HET S 80.76% 84.95% 92.65%
NSHERFERE S 17.34% 58.71% 54.40%
IR (BEf it &) B ET & 74.65% 88.78% 93.69%
DIE - B8 - E - BE(ITRERRFRE)E TS 76.18% 77.13% 87.44%
IR EREETE 88.87% 92.80% 98.11%
EREHLASTERTS — 83.97% 85.15%
FE(LLFIRM &) B mET = 89.92% 71.92% 79.27%
AFKEKREERETE — 12.37% 6.28%
AFEhET = 51.74% | 47.88% 66.07%
MO ERETEBETEND) 48.72% 82.68% 87.53%
MRt E RS 84.26% 88.33% 84.24%
hEHE TS 80.76% 92.77% 95.17%
hEMENEEEREEEER(KAERMEE)FERET — 13.80% 23.90%
SRAEPERANBEZREMN IR EETS 89.38% 76.10% —

SRABBEIREN OB ERTS 81.82% 73.67% —

SREBIEEIRRERETSE — 61.14% 68.46%
EHETETSE — 71.86% 83.94%
HMEE TS 54.77% 87.01% 91.87%
BE(ER - SR = 72.54% 64.26% 99.54%
BigElhat = 80.22% 79.37% 90.38%
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Mg 7

BEHRMEmEtERRE TEe & | BXE
FEE - EREMEEMETE 91.68% 90.27% 96.25%
FEBEE AT E — 92.16% 99.07%
B TS 81.28% 85.39% 97.31%
ME L BERERNEBEHMETE 88.73% 77.89% 63.83%
BRIt &) & Et = 89.96% 85.87% 79.75%
HE(ER I &)EHETE 2.86% 36.31% 49.43%
HEFR )& mhErE 54.78% 77.39% 99.83%
HEHmETE 68.94% 76.66% 95.80%
(h=&Em 65.62% | 75.16% | 78.38%
CRERASRTGERSSGFEEMEN) — 43.78% —

SRAEREXIREMIFERTS(EEMED) 47.28% 58.40% 67.55%
A NAP AT = 67.95% | 7641% | 78.39%
(OF Mg 53.86% | 83.23% | 91.55%
EE(EMARMER)E HETE 35.56% 79.12% 99.79%
(23wt &) BmEt = 78.39% 90.73% 94.69%
TTER(AE - & » —&EMhE)&hat= 57.97% 95.25% 98.29%
MER#E T = 59.83% 79.24% 81.40%
SMEfhETE 87.71% 86.79% 97.53%
SEREETTTEERERETE — 90.76% 99.89%
BRESKTERESE — 52.14% —

OO E) & mETE 71.12% 80.11% 94.52%
MO HETE 65.17% 75.30% 80.26%
MR T XEREERTEF1TRHED) 31.97% 48.16% —

HimEhET S 60.48% 83.29% 88.46%
e (Lst &) &b Et = 78.85% 84.10% 89.59%
MEFTEFInE)E HETE — 75.11% 96.80%
=IE TS 93.27% 66.28% 92.68%
BT ER AT = 72.26% 72.56% 95.79%
B TS 67.72% 46.83% 50.27%
(K &R 68.37% | 75.27% | 85.10%
—&K#mhat= 67.00% 87.97% 95.93%
—E#mhatE 42.58% 69.28% 98.99%
RHEThaET = — 79.53% 99.65%
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Mg 7

BEHRMEmEtERRE TEe & | BXE
NEEHEHETE 51.11% 79.70% 97.41%
TTRasA &R ETE 76.93% 83.19% 88.03%
SREmhat= 17.53% 80.75% 99.47%
HRfRKEREETE 98.98% 89.66% 99.57%
LTS 58.73% 88.73% 99.59%
BEIMEREBERERETE — 46.10% 74.08%
®BrEHMETE 31.12% 72.71% 76.78%
SpiEElmhat = 48.10% 70.67% 87.75%
EEES- TR 56.59% 85.64% 96.50%
SRABARERXREM IR ERETE 62.93% 87.82% —
SRABENRZREM TR ERETE 76.45% 72.30% 83.79%
SREHEERBIEETE RS — 24.22% 0.30%
BB TS 79.23% 63.14% 97.36%
SfRElhat= 55.75% 69.77% 91.53%
MTRERETEEMBFRE G ERTE 98.45% 42.78% 19.15%
AR ET S 45.34% 73.05% 99.49%
BREHMET = 50.78% 78.49% 86.90%
(M) %% 75.33% 71.77% 90.93%
NEUREARFERETSE — 62.06% 91.48%
DEEHETE 24.60% 60.05% 96.73%
PR (R AR E)E hET S — 66.81% 55.58%
HREERSEERETE — 50.16% 80.84%
KE# TS 70.51% 77.75% 94.06%
BT = — 70.25% 97.77%
T (E &) &R b T = 93.49% 67.97% 55.07%
TL#EmHET = 42.08% 69.96% 96.93%
RiERSEERETSE — 38.20% | 100.00%
MiR(FEEER)HBmETE 89.50% 76.92% 89.40%
TR 55.03% 86.54% 95.57%
E#mhaEt= 58.98% 81.58% | 100.00%
B ERmETE 24.72% 59.72% 91.31%
FomEhaEt = 67.26% 59.37% 93.69%
EaEmatE — 62.69% 84.47%
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Mg 7

BEHRMEmEtERRE TEe & | BXE
EEH TS 40.26% 50.67% 84.67%
RIERMBEE G ERETE — 52.95% 53.73%
BE&ERSFERSTS 29.98% 62.60% 61.48%
BLESFBERSTSE — 23.94% 64.00%
FLEhET = — 24.46% 83.87%
(N)E(E#% 74.17% 76.01% 88.89%
_JKEBTIETE 54.63% 68.38% 97.56%
_MEPhETE 40.87% 53.01% 79.32%
NERURKERFERETE 70.59% 74.17% 83.13%
AAIEF T = 70.91% 73.58% 75.66%
Ay Ef et = 87.14% 72.92% 96.83%
b3t EfmEt = 62.44% 72.05% 89.47%
XIFEPhaT &= 54.72% 82.44% 99.37%
HopEmETE 72.83% 80.83% 84.43%
HE#HETE 40.31% 72.43% 91.93%
HEEZFER:TE — 66.17% 75.52%
g mhat= 50.83% 73.65% 95.79%
BECKEME)EmETE 81.21% 75.62% 90.77%
B8 Et ) BmETE — 34.27% 26.44%
FHKEHETE 80.76% 77.19% 89.47%
MEH TS 83.40% 80.36% 89.76%
fLERERTIETE 62.72% 85.06% 89.43%
SRS 45.52% 75.28% 94.68%
fEiB#hat = 77.80% 79.11% 96.47%
F R ENETE 7446% | 7311% | 81.51%
EMEHET= 92.22% 75.15% 97.33%
LB ET = 92.51% 86.19% 87.82%
IHEEE hET = 83.75% 76.89% 93.81%
SRNBEEMZIREM OB ERTSE 87.58% | 69.88% —

SRABEERXREM IR ERETSE 90.17% 86.44% 62.99%
SRR EEINRER 99.52% | 17.44% 5.62%
IRERE AT = — 59.67% 92.60%
e E hETE 72.07% 85.75% 92.84%
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Mg 7

BEHRMEmEtERRE TEe & | BXE
EMEHETSE 56.68% | 54.67% | 78.34%
ZMNETETE 52.67% 76.29% 87.64%
A b#mhat= 65.70% 88.83% 97.57%
mAElhaT = 93.33% 66.39% 65.15%
(O)#i1Imh 75.67% 84.84% 89.49%
MIT(E&EL)E M S — 84.19% | 99.85%
MITh&EmaET = 75.67% 84.85% 89.34%
(P)EM5 50.16% 67.90% 86.41%
—mElmhatE 46.73% 74.79% 94.69%
&R Et = — 70.14% 89.90%
TE#EMETE 37.29% 42.14% 95.02%
NIBEHETE — 69.06% 95.55%
TREMETE 77.99% 73.21% 99.48%
SAR(EREME)EHETE 72.12% 80.75% 92.28%
SAARBRRIBRERTS — 49.73% 43.23%
S EgEfmhat = 44.77% 54.04% 89.66%
KMEFHET = 22.96% 72.56% 91.71%
1EBEmETE 67.17% 73.69% 92.66%
minEmhaEt = 79.87% 71.47% 95.09%
afmEmatE 26.73% 77.28% 90.61%
TR ER AT & 33.48% 67.25% 87.25%
FIgE T = 51.31% 70.12% 88.56%
RBE TS 34.49% 64.80% 96.41%
MAEHET= 20.88% 73.51% 94.65%
RE# M= 51.17% 80.84% 95.21%
BERERFERSS — 35.48% 70.09%
SRAEIEZIRENIBERTSE 4767% | 72.64% | 47.53%
SHREEEMEIRRERETE — 39.96% 42.13%
mEHmat = 31.62% 65.80% 98.42%
BEH M= 45.14% 78.36% 96.50%
rIfIEL T ET = 67.40% 67.51% 97.33%
BFERBRERSSE 58.39% 27.86% 23.17%
REBEMETE 83.08% 63.53% 98.27%
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Mg 7

ERmElmatEEEE IxE | B | BXE
(QEZ=R% 63.10% | 5247% | 51.36%
AMEHETE 29.59% 69.16% 87.67%
KSR E — | 2957% | 4743%
i (IR ) B hET = 96.20% 72.22% 88.66%
PIHEHEIE — 63.68% 99.25%
PHESGERTE — 46.33% 72.14%
CHRERSRFEEREE — 54.23% 20.96%
/\Hﬁﬂ(ﬁﬁﬁim@)%&:ﬁ%f% 9.06% 67.21% 89.71%
AIR&EFHET S 78.18% 61.39% 71.40%
K (et E) & maTE 62.21% 41.38% 11.37%
K L& HETE 83.07% 7542% 84.29%
hEREHETE 50.91% 56.87% 74.22%
RIE(EEIE)&mErE 79.21% 45.57% 89.73%
R HETE 59.17% 53.20% 60.49%
MFEHEE 52.51% 84.10% 93.44%
LGE 70.08% 75.79% 95.74%
REEREETE — 65.17% 81.82%
P2 L (GEF ) B ET & — 43.92% 95.53%
BREABEREXIRENIKBER EEERTND) 52.18% 69.27% 70.55%
BUEERENE R E — | 1011% | 421%
EHEPIEﬁ%%EEI;cEJr% — 20.11% 27.27%
lLEHET S 43.47% 64.77% 97.34%
BEHMEE 58.94% 68.30% 87.06%
LIOKEREEE — 1131% | —
B EHAE 62.65% | 73.56% | 87.11%
ZOEmETE — 68.62% 92.51%
EMEHHE — | 67.65% | 9542%
ERMAMEEHETE — 32.80% 3.52%
BABERAFRE ST E — | 1867% | 7.59%
(MER% 40.89% | 78.20% | 86.71%
NAMEHET S 77.54% 68.21% 83.50%
AEER=FERTSE — 48.91% 26.51%
AIE (FE SR M &) & Th ET 2 77.38% 72.31% 94.75%
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Mg 7

BEHRMEmEtERRE TEe & | BXE
i (EHME) & TS 92.57% 75.02% 96.85%
ANIFEHETE 27.22% 64.67% 97.59%
TTHE TS 23.02% 72.32% 91.49%
B E T = 69.57% 77.54% 99.98%
BEEmETE 39.56% 64.96% 88.61%
ELEHETE 46.76% 67.15% 90.65%
RBEIMETE 23.41% 79.61% 98.69%
HEKEREMER)EHHETE 92.39% 86.43% 94.23%
HEH TS 64.45% 78.87% 85.75%
MEE TS — 83.31% 99.45%
RaEmETE 65.91% 81.33% 80.90%
MMNE AT = 53.21% 69.67% 93.49%
FRERERHETE 47.43% 88.66% 86.84%
HEH TS 37.98% 75.02% 95.11%
mIRE T = 88.44% 74.00% 57.41%
MIKESGEERSTSE 8.99% 50.67% 70.04%
SiiElmhat=E — 64.83% 86.82%
HigE T = 86.45% 78.75% 95.00%
HE(RRE &) & hETE 43.64% 80.29% 62.33%
HMEE TS 53.56% 66.53% 98.07%
BT = — 80.80% 73.95%
BE#H TS 11.14% 64.98% 96.96%
mINE AT = — 61.94% 81.99%
FINET T ET = 28.36% 86.47% 95.55%
BhREhaEt = 45.57% 82.23% 92.40%
EEimEhat = — 81.52% 93.07%
Bl AR ERSS 66.08% 76.81% 80.59%
(U)TEER% 50.04% 70.32% 78.02%
RERSRFHERE — — 97.02%
TE#H M= 14.02% 73.53% 94.85%
LBEEERRTERE — 65.67% | 31.81%
JEETHETE 50.61% | 45.64% | 76.77%
S (AR L) BB ET = 58.04% 90.00% 85.48%
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Mg 7

BEHRMEmEtERRE TEe & | BXE
S E = — 79.92% 89.13%
HMENF &) & hETE 41.97% 29.88% 96.05%
BFM(REMER)EHETSE 1.35% 41.92% 39.18%
REABHSEEREE — 31.53% 6.89%
fcEm & maET = 58.82% 81.98% 87.32%
=EHmETE — 50.42% 84.11%
WF (i—F Mt &) & mat = 58.71% 50.31% 26.79%
H (bt &) & st = — 66.34% 59.99%
Intealmhat= 48.49% 59.21% 91.33%
So#mhaEtE 24.83% 58.59% 93.06%
EMEfmhET = 6.12% 67.33% 98.21%
HiIERESGERSS — 47.94% 92.00%
EFH et E — 53.57% 98.63%
e RRRTERSS — 31.81% 23.09%
(EES 61.56% 62.41% | 83.21%
MR R RSERETE — 18.84% —

AREHET= — 47.81% 80.34%
A& mat = 39.97% 51.81% 70.47%
aRmEmhaET = 94.88% 85.14% 94.57%
RINE T & 40.43% 72.50% 96.08%
t EE AT S — 51.22% 80.72%
BUEhET = — 42.68% 87.39%
MR REARFERETSE — 42.16% 72.08%
RE#H M= — 55.06% 95.79%
AR REASRFERETS — 27.21% —

B EMET S — 35.70% 69.37%
HERSKTERSTS — 56.53% 75.59%
ERMAAFEEIEM It & = — 49.92% 62.23%
EREEAILM RIS 65.53% 52.18% 75.51%
BALLERTET = 17.10% 65.85% 87.62%
(W)E2P95% 40.10% 59.54% 68.06%
IR ERS 40.10% 59.54% 68.06%
(X)i& il % 49.93% | 7853% | 85.22%
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Mg 7

ERmAmEEaHE TxE | &  BXE
CREGRERERE — 60.81% o
H BRI E AT & — 54.11% | 87.40%
MRE R EE S — 100.00% o
BREmEE 50.90% | 84.77% | 87.14%
HEEE S 4518% | 71.35% | 64.52%
()& 1% — 52.56% | 78.95%
EIHROALE R ERSERsT S - 56.66% | 97.12%
iz %(%%ltﬂz@)@ﬁ EEEtE — 17.15% | 12.18%
B IREFNR)ARSEE TS — 57.04% | 91.23%
EIHEE) AR ERTE — 4921% | 93.41%
ZE4BF 71.29% | 74.77% | 81.81%
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